X 42 - 9x -9 5 AR Y
(x+a)(x+b)(x+c) 7t =AUt oW a + b + ¢ O] FF2?

x(x2-9)+(x*-9) = (x2-9)(x+ 1
=x+3)(x=3)(x+1)
Ot a=3,b=-3,c=1°22

a+b+c=10°]|c}.




2. Bx(x-2y) -x+2y 5 ARt ALY

@ @3x-1)(x-2) @ (3x+1)(x+2y)
® (3x-2y)(x+y) @ (3x-2y)(x-1)

® (Bx+2y)(x—1)

3x(x—2y) —x+ 2y = 3x(x —2y) — (x— 2y)
= (x-2y)3x-1)




3. xly-a)-y+a 2 urEs] AFEee ALY

® (x+1)(y+a) @ (x+1)y-a) ® (x-1)(y+a)
@x-Dy-a)  © (1-x+y)

x(y—a)-y+a=x(y-a)-(y-a)
=x-1)(-a




4.

X249+ 14y-32 ©] x 9 AS7H1 9 F AxA o] o2 el Reh
W, A e] §e o

® 2(x-y) @ y+14 (@)Qx

@ 2x-2y-7 ® x-y+2

= (- 1dy+49) =x* - (y-7)°
=(x+y-7(x-y+7)
Sxty=-7+(x—-y+7) =2x




5. 1% -y +4dyz - 422 S ARSI Y
(x+ay+bz)(x—y+cz) 7L HATE olW] a + b + ¢ 9] FH2?

®-1 @n ® 2 @ 3 ® 4

~&B

=y dyz- 42 =57 - (0 -z +42)
= x? - (y - 22)?
=(x+y—22)(x—y+22)

et a=1,b=-2,¢c=2922 g+ b+c=10|t}.




@ (x-y+1)(x-y-1) @ (xty+Dx+y-1)
@ (x—y+D(x+y-1) @ (x—y-1)(x+y-1)

® (x+y+1)(x-y-1)

X2 -2xy-1+y> =(x®-2xy+y?*) -1
= (x-y)?-1?
=@x-y+x-y-1)




7. A% ol theke] 2 +6n—27 o] 257} D W), o] A48 57

@13 @ 15 ® 18 @ 20 ® 24

B

n? +6n-27=(n+9)(n-3)

ol 0] 247k EIEH, n+ 9, n— 3 ol S 1 o Slojof
s,

n-3<n+9°B2 -3=1
n=4, n® +6n-27=16+24-27 =13




8.

A 2?2+ =60 (x+a)(x +b) 2 AFESND wf, a0 Gt
Aol Mee? (2 a b= BF0lala>

©274 @37 @4711 @ 57 ® 67

B ~
24+ k-6=(x+a)(x+b)olBE
Dza—}—b,—ﬁ =ab
T A48 JollA -6 o] HE A= -136 67 -1, 1 3 -6
—136, 29} -3 -3+ 2, —29} 3, 37 —20]1L g > pO|EE
a=1FE5g=2FE3=3E%4=¢6°|th
webA g o G2 49 4= 4 7o)




9. FPHax-12=(x+b)(x+4), ¥*-5x-c=(x+3)(x+d) & i,
a+b+c+d<=? (a, b, ¢, d=F5)

@ -12 @14 ® 20 @ -28 ® -34

B ~

A 4ax—12= (x+b)(x+4) =12+ (b+ 4)x + 4b
a=b+4, —12=4b

Lb=-3,a=-3+4=1

¥ -bx—c=(x+3)(x+d)=x>+ (d+3)x+3d
-5=d+3, c=-3d

cd=-8, c=-3x(-8) =24
La+b+c+d=1-3+24-8=14

~&B ~

2 +ax-12 = (x + b)(x + 4) A F+FS vl stH
-12=4b .. b=-3

b= 3% Ao s}

¥ tax—12=(x-3)(x+4) =x% +x— 12

ta=1

x2-5x—c=(x+3)(x+d) oA x & ASE v s5HA
-5=3+d .. d=-8

d = -8 & A tidst

¥ -bx—c=(x+3)(x-8) =x%>-5x—24

Le=24




10, x* 52 +49] 157} opd A2?

@ x-1 @ x+2 ® x+1 @ x-2 (@)x—4




11, x* - 10x* + 99| A57F obd 2?2

D x-1 @ x+3 @ x?-1
@x+9 ® x*-10x2+9

(2 -1)(x*-9) = (x+1)(x=1)(x+ 3)(x = 3)




12. o8 % o -1 9 257} obd 2127

D x-1 @ x*-1 @ x*-1

@xG—l ® x¥-1

B-1=0x -1 +1)
==+ 1) +1)
=(x-1)x+D2+1)(*+1)




2 2(1—x/§)
1+v2 (1+2) (1-V2)
(1+v2)’ =3+2v2
L (BA)=-2+2V2-3-2V2=-5

=-2+2V2




14. 65x63+ 66X 66 — 66 x 64 — 64 x 64 °] FH-Z F5HH?

@1 @ 164 @131 @ 132 ® 140

(64 + 1) x (64 — 1) + 66 X (66 — 64) — 642
= 642 — 14 66 x 2 — 642
=132-1=131




15.

_ 1
Q1520 BAL ol ool | x 492 - | x 387 9 G oL, 0]
T4E 1ol B Behe}

@ a4 2ab + b* = (a + b)?

© a® - 2ab + b* = (a - b)?

© a®>-b*>=(a+b)(a-b)

@ x*+ (a+b)x+ab=(x+a)(x+b)

©® acx® + (ad + be)x + bd = (ax + b)(cx + d)

® ma+ mb=m(a+Db)

® G, ©,80 @ © ®, 80 ®)e. ®. s

@ ©, 6,170 ® ©,6,7

~&B

1 1
—x422—1x382

=~

X (422 — 382) — ma + mb = m(a + b)
X (42 +38)(42-38) - a® - b* = (a+b)(a—b)

X 80x4 =80

.J>I>—\ rl>|>—‘ »lklv—‘




16.
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2 5}t o2
= it 19 189 2
y ol g BA2 vepyE?

® 27x?y

L
__9/1 7]

AC=2x+y, AB=2x-y
meb o P9l Holt

2mxy

2x+y
2

Il

2x—y

2

) -




17. o2 OoA AB & AE22
A, B, C oA A= Aot

She 2 93 % 90, 0, 7} Al A
Atk ¥ 0y 9 HHAEol a, ¥ Oy 9
w1 B0l b o W), AT H0] HolE a St b & AHgstol ek 2
NOANG B
O
© 7 (342 + 3b* + 8ab) @ 8rab
@271{1!) @ nab
®n (2a2 +2b% + 8ab)

0, 9 HAEL2 a, 0, O HIAE2 b o|BRE & 9] HHA]
a+ b o|th,

=

= O
wreta] A BBl Yol = (a+b)%r—a’n—b*m = 2abn ©|T.




18.

Aozt 52em 9 B2 AFs| 7 AN et e Polsh

St bem 1 AAAY = HE WHEL o] W, = A
&l 109 cm? A o, Holo] A-E F5HAH? (Ha>b>0)
@ 7cm? @ 13cm? ® 25cm?

@ 49 cm? ®)91 cm?

B

4a+4b="52°B2 g+ b=13

a’+b? =109

(a+ b)? - 2ab = a* + b*

109 = 169 — 2ab

s.ab =30

(a-b)? = (a+b)? —4ab = 169 — 120 = 49
a-b>0,a-b="7
.a’>-b*=(a+b)(a-b)=13x7=091




19. o5 T 2% -y —x% +xy 9] A=

@x—l @x+1 Oy+1 @ x+y

x2y? —x%y —xy® + xy = xy(xy —x—y+1)
=xy{x(y-1)-(y-1)}
=xy(x-1)(y-1)




Al

20. =S &2 A

fllo

L

rlm

A2

flo

@ ab+b-a-1=(a+1)(1-b)

@ 2-a-2b+ab=(1-b)(2+a)

@ -y +2x+2y=(x-y)(x-y+2)
@x3+x2+x—|—1:(x2+1)(x+1)
@xy-1-20-1) = -2 -1




vl

21. 93 &AE2A

5%
rlo

29

O xB3-x2+2x-2=(x-1)(x*+2)

@ xy-x-y+1l=(x-1)(y-1)

® xy-2x+y-2=(x+1)(y-2)

@ P(x+1)-4(x+1) = (x+1)(x+2)(x-2)
@ab+1)-(b+1) = 1-a)1+b)

‘ ®ab+1)-(b+1)=(a-1)(b+1)




